
Leaving Certificate 2017 [ 6 ] Mathematics 
   Paper 2 – Higher Level 

Question 3 (25 marks) 

ABC is a triangle where the co-ordinates of A and C are 
(0, 6) and (4, 2) respectively. ܩ ቀଶଷ ,  ସଷ ቁ  is the centroid of the triangle ABC.  
AG intersects BC at the point P.  
|AG| : |GP| = 2 : 1. 
 
(a) Find the co-ordinates of P. 
 
 
 
 
 
 
 
 
 
 
 
 
(b) Find the co-ordinates of B. 
 
 
 
 
 
 
 
 
 
 
(c) Prove that C is the orthocentre of the triangle ABC. 
 
 
 
 
 
 
 
 
 
 
  

A (0, 6) 

B 

ܩ ൬23 ,  43  ൰ 

C(4, 2) 


